B ml I aall fes 3y )
Mb:dlc.":b.l.wdll_“,___j
]“s’w_w [ odly

— s> Ly b o A5 oo, g A
10 + = 350

+ 100 = 579
1+ 679 =

- 200 = 809

2013 - 13

+ 1500 = 2000

- 300 = 70

1 + 489 =

niva-math.com



—:dlgio JS 3 LBl olae¥ s (2

910 920 930

— 1120 1220 1420 ____

3610 4710 5810

—:5da! (...»‘ Jaﬁ (3
{
o) yins + b = 1030

| I| Q‘JQ& =

|
- o\ '

las g + ol = 1003

lisg + Ol e -

niva-math.com 2



niva-math.com

219 200 oo ysol 130s st (4

25195 2000 oo Lisl 13as LS|

1000 5 998 o Lo lise il

2340 50l § yi5leo Gown S suadl LS|

299 sxy 54500 S SV sasdl ]

560 9 5550.3;[.3.?35 l9ae as)

— : dawsl SHI sasdl ST (S

= 5,50 70 + 5amg 12

= 5,40 40 + 505513

= 5,20 20 + oo 10

= ol e 10 + 8o 100

= §,2¢ 60

Liaugmrs.tdmi



